Teaching -

For mastery at

-loreat



Why do we Yollow a teaching yor mastery

curriculum?



In order to understand maths we need to: deve[op children's

cognLtLve aoLlLtg to create connections between [anguage, chtwes,

concrete experiences and sgmbo[s.

Haylock and Cockburn, 2013

Small steps



What is Fluency and why do we talk about it so much?

- [tis the recognition 0¥ number acts,

- Flexibility in knowledge (being able to apply those facts to a

range o T contexts) ,

- Tlable facts,
- Number bonds
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1. I can multiply a 2 digit number by a single digit number 1.1-1.2 35
using partitioning and representations (no regroups)

MATHS CURRICULUM

2. | can multiply a 2 digit number by a single digit number 1.3-1.4 69
using partitioning and representations (one regroup)

3. | can multiply a 2 digit number by a single digit number 1.5 10-11
using partitioning and representations (two regroups)

4. | can multiply a 2 digit number by a single digit number 1.6-1.7 12-14
using partitioning



5. | can multiply a 2 digit number by a single digit number 2123 1517
using expanded multiplication (no regroups)

6. | can multiply a 2 digit number by a single digit number 24-25 18
using short multiplication (no regroups)

7. 1 can multiply a 2 digit number by a single digit number 2.6 19-20
using expanded multiplication (regrouping ones to tens)

8. | can multiply a 2 digit number by a single digit number 2728 20-21
using an short multiplication (regrouping ones to tens)

9. | can multiply a 2 digit number by a single digit number 29 22-23
using expanded multiplication (regrouping tens to hundreds)

10. | can multiply a 2 digit number by a single digit number 2.10- 23-24
using short multiplication (regrouping tens to hundreds) 2.11

11. | can multiply a 2 digit number by a single digit number 2.12- 24-26
using both expanded and short multiplication (two regroups)  2.13

12. | can use estimation to support accurate calculation 2.14- 27-29

2.15




Flashback L

. What is 700 divided by 107
2. +0Ik =0/

3.9k =_

. Draw a shape and label the vertex




+2 people are sat on each bus. There are

Tour busses in the car park.

What would be my two Jactors to work out

this calculation?



2.14 Short multiplication Step 2:9

4 rows, each with 32 chairs. How many chairs

(T T TTTTIT1]d

CITTTTTTTTy) Ty LTI TTTTTT) CITTTTTTTT]

]
O

OO

1]

OO

L]
]
L]
O
]

o altogether?

]
O]

100s| 10s
3

1s

2

4

38
0

4 x 2 ones = 8 ones

4 x 3tens =12 tens

8

= 1 hundred + 2 tens




‘Without completing the calculations, circle the ones
thatinvolve regrouping in the tens.’

4 1 4 1 6 1
X 2 X 4 X 2
4 2 5 2 6 2




‘Complete the calculations.’

7 4
X 2










Ol x 0=

A) 35

B) 305

C) 80

D) [ don't know. . yet!



